N & o & AF & H A A
20178 & =04k LBHSIH EXNZE
2M: EXNEE DN
M EXNEHE =5
Chelr DADIZO| KHHH (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
EXNZS D 2,103,804 2,431,813 328,009
= 1,817,614
< 286,190
EXNE 33 2,051,041 2,379,050 328,009
= 1,817,614
< 233,427
DAMOL=EO| NXHAHH 1,182,884 1,207,507 A 24,623
= 1,158,614
< 24,270
NEHEA AFS 1,116,000 1,040,000 76,000
= 1,116,000
308 XXIEHH SOl A 1,116,000 1,040,000 76,000
= 1,116,000
01 AXHHILEES 1,116,000 1,040,000 76,000
OXI & THZ= AFAFS 1,116,000
= 1,116,000
ANEHP 2 M HAH 6,750 6,750 0
201 £B-2dH| 6,750 6,750 0
01 At 22/l 6,750 6,750 0
OXNHgRaa I A 6,750
S EQENHPASEMAEY M
15,000& 1502 2,250
- HESAKXIt A42XE M
15,000& 1002 1,500
- ANEEg 4Rus ML 15,000& 705 1,050
- X &M OIL 2K 15,000& 702 1,050
- XAEHEZA MATE 15,000& 605 900
EXNHE HRFA 11,200 11,200 0
201 -4 10,000 10,000 0
01 At 221l 10,000 10,000 0
OEXNHEEZFHR=A 10,000
203 ¥ S =&l 1,200 1,200 0
03 AIHZ=XH 2 =AH| 1,200 1,200 0
OEXNEEBYRFH 1,200
AEze|ge = 42,614 41,837 7
= 42,614
308 XX EHH SOl A 42,614 41,837 7
= 42,614
01 HIXNHHBNEES 42,614 41,837 77
OXHEoIA MUlA XI& 42,614
= 42,614
ALE=SZEHH RAE= 6,320 6,320 0
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K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
201 ¢er24| 6,320 6,320 0
02 =224l 6,320 6,320 0
O/ALESSZHH KRAE 71,818,000 x8%+1. 1 6,320
C2HE=A EEIH 127,253 138,139 A 10,886
EZ2ZHFAAEALY 85,000 84,000 1,000
403 XSS A=0l& 85,000 84,000 1,000
01 XM A2E X 85,000 84,000 1,000
O 22l T2HAES EXAE 70,000
OZItNEFHs e XM 15,000
EZ2HFA SEAY 12,000 25,600 A 13,600
201 Let249] 12,000 25,600 A 13,600
01 At 224l 6,000 18,600 A 12,600
OE2g=A S22 M 6,000
-8 Jg3s &
2,000& *250 x 1200 &= - Al 6,000
03 &AL2 I 6,000 7,000 A 1,000
OE2H=A eol deldl & =2HJ 823 6,000
E2HFAEESALE 30,253 28,539 1,714
308 XX EHH SOl A 30,253 0 30,253
10 SII 2SO CHetZ & = 0 & A& I 30,253 0 30,253
O=II=2FEANLE RIAES> & 29 12,972
OE2Y =Dk RANE> AY 17,281
EXNZENECE 27,565 27,565 0
SIEEXNZEANAE RIE 27,565 27,565 0
201 L2l 27,565 27,565 0
02 =224l 27,565 27,565 0
OS=EXNZFEANLY RANE S
357,984,000 *7%*1. 1 27,565
32 22 713,339 1,005,839 A 292,500
= 659,000
= 54,339
NGtAIE =S Mot AMY 659,000 910,000 A 251,000
= 659,000
403 X SHHSA=0l& 659,000 910,000 A 251,000
= 659,000
01 HXSHMA2E X 659,000 910,000 A 251,000
OXIGHAIE 2 & &taHALY 659,000
= 659,000
S2UAFE2F 2l 54,339 95,839 A 41,500
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